Exercise  2.24.

(1) U(w)=-(b-w)**c  ( 0

(2) U’(w
) =c(b-w)**c-1 >0

(3)  U’’(w) =-c(c-1)(b-w)**c-2  <0

Can we satisfy all three?

I.
because of (1),  if  -1<c<1 and if c is even, then we need (b-w) >0   

II.
Because of (2), if |c-1| <1 and c-1 even, then we need (b-w) >0

 
C and (b-w)**c-1 need to have the same sign.


( if c is odd ( c-1 is even ( we need c>0


but if c is even ( c-1 is odd ( we need c<0 if (b-w)<0 and c>0 otherwise.

III. 
Because of (3), if c is odd ( c-2 is odd ( we need (c-1) and (b-w) to be of the same sign since c already has to be positive because of (2). 

But if c is even ( c and (c-1) need to have the same sign. But when c is negative, b-w is negative and vice versa.  Therefore (c-1) and (b-w) will have the same sign.

R’(w) = (-2c)/(b+2cw) ( increasing risk aversion only when b-w >0.
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